1 I 2 3 4 5 6 7 | 8 | 9 | 10
DRAWING REV. THIRD ANGLE
el J 10— 81050 fss] 4 DO NOT SCALE | ~(@)-f—F - Troscnon |IF IN DOUBT ASK
A 58.0(2.28")
28.0(1.1%)
1 1
- & $E P3 P4
e g = —— © ®
['e)
e 4% 7
| / /] A Al / — -
FXG. SLOT FOR
M6 SCREW J?Iﬁ_ = ____‘&_ / / -P1 P2 o
| T o
- 11 la, Al I
B T | T T T
I
15.4(0.6")J
25.4(17)- /| 0.05 |D
/710.002"[D ©
Optional Single End Scale Mounting Kit
. R2.8/360"
Rgtutitonalt OVERALL SCALE LENGTH MINIMUM = TRAVEL LENGTH + 258(10.2")
— adjustmen
Scale end reference groove. i i
c — SHGA & SHG-TC only. ol No, & Zero Point. 131(5.16")
= do not have zero point. »
o (‘%(/ 2 6.5(0.26")— 118(4.65")
\_EQDJ Alignment mark for scale. [710.05 ]p
[710.002"[D ©
L P1 P2
28(1.17)/30(1.2") /] N /] _
1 - - - — - -—p o
Al 2 § i @
/ P 1/ A A 1/
D () fan 1
Y N P2
—_ P
=] = I g o
22.5(0.89") 47 ‘
AN 38(1.5") . " ¢
|| Adjustment 35.0(1.38") L20.0(0.79") ® -
R17/360° L 38.75(1.53") »
; » Armoured cable #8.5(0.33")
Rotational 53(2.1 .
adjustment 217 { -53.5(2.117) TRICOLOUR LED (min. internal bend radius 30(1.2")
Non—armoured cable #5.6(0.22”)
SCALE MOUNTING BRACKET ADJUSTMENT Pillar end mounting points 18(4.65")
E M8 x 18 deep 6.5(0.26") —~| | .
C'Bore #8.4 x 5 deep A |
A . ,
” _I_
Short pillar 26(1") 22.5(0.89") J T |¢ZIKDLD R :
‘ ) | | /] /[ T iy
Long pillar 38(1.5") i ( .p1! / \ P2l .
- fix both together > -— '
for extenge% length MIN. 16(0.6") ¥ // l\ B$ \\ $B //
L Al iA
c 11(0.43") R #15.2(0.6")
F \ -285(112°) Mountings "A”
A - Encoder head mounting points 2off for M5 cap head screws (clearance holes through). ® _g,_ ,
B — Encoder head mounting points 2off for M5 screws (thread depth 12). 95.5 TI.-IRO & CBPRE 99.0 x 6 DEEP
_ . R " each side of housing.
C - Scale pillar mounting studs M8 x 15 (use spacer washer as required). to accept M5
D — Machine Guideway. cap head screws.
E/F - Encoder head mounting faces. A
| G — Indicating parallel alignment required between encoder head and axis travel. ( ”)
H — Scale end mounting points to machine bed. 1 " DIMENSIONS — mm (ins
P — Installation alignment points. Note: L|t|.1lclaar g::ode:s overt?54(:°(100k)tof travel
utilize airrerent mounting brackets
FOR FURTHER INFORMATION REFER TO INSTALLATION MANUAL
¢ TITLE DIMENSIONAL DETALS for MATERIAL/ FINISH SCALE |UNLESS OTHERWISE  TOLERANCES:— o oecun. uucss 405
4 [03-12-14[ECN9447|MODELS COVERED BY DRAWNG CHANGED DUE TO RELEASE OF SHG MK3__ CWH —  CHf _ ; " STATED :— 1 DECMAL PLACE £0.2
3 |27-11-13JECN9370|IMPERIAL FIXINGS REMOVED, NOW METRIC ONLY CWH SHGA Uﬂd SHG n— SEIES EH[OderS (<700) (ON A1) DIMENSIONS ARE IN MM. ZREN:‘JALIRRMB*;P
2 [29-9-06|ECNB743([DIMENSION CHANGE 28.5 WAS 28.0 (Width). RICK HARVEY. JFD DRAWN|J.DRIVER [27-01—04 THG ORAVNG B TE PRPETt (F SHEET REV.
1 13-1-04 |ECN8476|UPDATED WITH VARIOUS MODS./CORRECTIONS REF. RICK HARVEY. JFD CHECKED . NEWALL TH MM%WE% R USED 2;?:;2: 31 6— 81 650 ISS 4—
REV.ISS.| DATE | C.No. ALTERATI|ON | REV.ISS| DATE C.l\f.No. ALTERATION APPROVEDl Lrlcester ]i!ngland vmmmmm 10F 1 | i
1 2 3 4 5 6 7 8 9 10




